
 

W

j

It lx

Xt Example RADAR

Z

na g gym

Fife EEIEE.gg2

1
tail

h Xt

Eiffel



OBSERVATIONMODEL

P Ela a exp

Lets KEEP PRIOR P Xo Lexis III

army P Xo 120
t

argyylogP 20 Xo P Xo

apnaxeogfte.pt tlog texiXo

x

É
argmin



HOW DO You CONVERT SOMETHING NON LINEAR TO

LINEAR

TAYLOR SERIES ABOUT AN INITIAL GUESS I

h x h E 34 x Y

At H E

init

argmin

avg.in g
Hsat EgtxHSx

avg.in É
4th

Sn



If 0

HEE.tt tEY o

Z

IF I Hsn z hi 2 sat x a o

172 A E Se HE z hit 2 to to

t.IE

SENSITIVITY

OF
OBSERVATION



THEIwtonAca.mn
INT'T Z OBSERVATION 2 H Prior I

t INITIALIZE GUESS FOR X

WHILE NOT CONVERGED

I H Linearize h X

SX LEAST Squares T H Z H

1
iii

i



PUTTING Everytime TOGETHER FACTOR GRAPHS

OF
LW.TOYsBiPartite

GRAH

VARIABLEMIDES Xo Xi X2 lo l

FILNOPE Zo Zi 22 23 Yo Ul

LEINNE tvariABLF.NOTFAoRNODEX

EVERY EDGE CORRESPONDS TO A LOSS

OF luo z.g.ci

z.z.ttto



FACTOR GRAPH SOLVE THE FOLLOWING PROBLEM

argmax log.P X.si Ie zÉÉÉ
u

I

argmin

x.mg
A Yi f f
I

Gauss NEWTON

Illy.fi Fall
Ft F ft b

1so FtpD



i t
ALL MODELS fl

4 INITIALIZE Guess Xo Xi lo l

WHILE NOT CONVERGED

Fi F K LINEARIZE ALL FACTORS

E d ft



i
Translation

fiIenamTranscation

A

B
L POINB

is

f

PointCorn s

CORRESPONDENCE

STE
FIND A TRANSLATION SO DISTANCE

SIB
FIND A ROTATION SO DISTANCE

IS MINIMIZER


